This article was downloaded by: [American University of Beirut] On: 17 December 2012, At: 05:01 Publisher: Taylor & Francis Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 37-41 Mortimer Street, London W1T 3JH, UK



Complex Variables, Theory and Application: An International Journal Publication details, including instructions for authors and subscription information: http://www.tandfonline.com/loi/gcov19

Integral representation of 2π -periodic and trigonometrically convex functions

Badih Ghusayni ^a

^a Department of Mathematics, North Central College, Naperville, Illinois, 60566 Version of record first published: 29 May 2007.

To cite this article: Badih Ghusayni (1990): Integral representation of 2π -periodic and trigonometrically convex functions, Complex Variables, Theory and Application: An International Journal, 14:1-4, 129-138

To link to this article: <u>http://dx.doi.org/10.1080/17476939008814411</u>

PLEASE SCROLL DOWN FOR ARTICLE

Full terms and conditions of use: http://www.tandfonline.com/page/terms-and-conditions

This article may be used for research, teaching, and private study purposes. Any substantial or systematic reproduction, redistribution, reselling, loan, sub-licensing, systematic supply, or distribution in any form to anyone is expressly forbidden.

The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae, and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand, or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.

Integral Representation of 2*π*-Periodic and Trigonometrically Convex Functions

BADIH GHUSAYNI

Complex 1 ariables, 1990, Vol. 14, pp. 129–138 Reprints available directly from the publisher Photocopying permitted by license only (± 1990 Gordon and Breach, Science Publishers Inc Printed in the United States of America

Department of Mathematics, North Central College, Naperville, Illinois 60566

The integral representation given by Levin [1, p. 60, Theorem 24] of 2π -periodic and ρ -trigonometrically convex functions which are indicators of holomorphic functions of non-zero finite order ρ is incorrect. Counterexamples are given here as well as a corrected version of the representation.

AMS No. 30D15 Communicated R P Gilbert (Received May 19, 1989)

We need the following lemma whose proof follows easily from the definition of trigonometric convexity:

LEMMA (a) If h(y) and k(y) are ρ -trigonometrically convex functions and c is a non-negative real number, then h(y) + k(y) and ch(y) are ρ -trigonometrically convex.

(b) For any real number A, A cos ρy and A sin ρy are ρ -trigonometrically convex. (c) Let $\{h_n(x)\}$ be a sequence of ρ -trigonometrically convex functions such that $h(y) = \lim h_n(y)$, as $n \to \infty$, exists. Then h(y) is ρ -trigonometrically convex.

Following is a counterexample for Levin's theorem [1, p. 60, Theorem 24] for the case of non-integral ρ and another counterexample for the case of integral ρ : Define h(y) on $[0, 2\pi)$ by:

$$h(y) = -\cos\frac{2(y-\pi)}{3} + \frac{2\sqrt{3}}{3}\sin\frac{y}{2}$$

and extend it periodically with period 2π . Then, if

$$s(x) = h'(x) + \rho^2 \int^x h(t) dt,$$

with $\rho = \frac{2}{3}$ we get

$$s(x) = -\frac{7}{27}\sqrt{3}\cos\frac{x}{2}.$$

Now since $s'(x) = \frac{7}{54} \sqrt{3} \sin \frac{x}{2} \ge 0$ on $[0, 2\pi)$, it follows that s(x) is a nondecreasing function. Thus, from Levin [1, p. 57], we conclude that h(y) is ρ -trigonometrically

convex. However,

$$\frac{1}{2\rho \sin \pi \rho'} \int_{y-2\pi}^{y} \cos \rho(y-x-\pi) \, ds(x) = \frac{7}{36} \int_{y-2\pi}^{y} \cos \frac{2(y-x-\pi)}{3} \sin \frac{x}{2} \, dx$$
$$= \frac{7}{72} \int_{y-2\pi}^{y} \left\{ \sin \left(\frac{2y}{3} - \frac{x}{6} - \frac{2\pi}{3}\right) + \sin \left(\frac{2y}{3} - \frac{7x}{6} - \frac{2\pi}{3}\right) \right\} \, dx$$
$$= -\frac{13}{24} \cos \frac{y}{2} + \frac{\sqrt{3}}{24} \sin \frac{y}{2},$$

which is different from h(y) (take for instance y = 0) and consequently the representation given by Levin [1, p. 60, Theorem 24] is incorrect for the case of non-integral ρ .

Next, we give a counterexample for the case when ρ is an integer: Choose s(x) = x which is clearly a non-decreasing function satisfying

$$\int_0^{2\pi} e^{i\rho x} \, ds(x) = 0.$$

Integration by parts gives

$$\frac{1}{2\pi\rho}\int_{y-2\pi}^{y} (y-x)\sin\rho(y-x)\,ds(x) = -\frac{1}{\rho^2}.$$

By parts (a) and (b) of the lemma, the function

$$k(y) = h(y) - A \cos \rho y - B \sin \rho y$$

is trigonometrically convex. Moreover, k(y) is 2π -periodic. Thus in the representation given by Levin [1, p. 60, Theorem 24], k(y) < 0. We now show that this is impossible. From Levin [1, p. 93], there exists an entire function f of order ρ ($0 < \rho < \infty$) whose indicator coincides with k(y). Using the definition of the indicator function [6] and the Maximum Principle [3, p. 229, Theorem 10.24] it is easy to see that $|f(z)| \le 1$ for all z. Since f(z) is entire and bounded, f(z) must reduce to a constant by Liouville's theorem. Consequently f(z) is of order $\rho = 0$. This is the desired contradiction.

A corrected version of [2, p. 60, Theorem 24] is the following:

THEOREM The general form of a 2π -periodic and ρ -trigonometrically convex function h(y) is the following:

(a) for non-integral ρ ,

$$h(y) = \frac{1}{2\rho \sin \pi \rho} \left\{ \int_{0}^{y} \cos \rho (y - x - \pi) \, ds(x) + \int_{y}^{2\pi} \cos \rho (y - x + \pi) \, ds(x) \right\};$$

(b) for integral ρ ,

$$h(y) = \frac{1}{2\pi\rho} \int_0^{2\pi} (x - y) \sin \rho(y - x) \, ds(x) - \frac{1}{\rho} \int_y^{2\pi} \sin \rho(y - x) \, ds(x) + A \cos \rho y + B \sin \rho y,$$

where

$$\int_0^{2\pi} e^{i\rho x} \, ds(x) = 0,$$

$$A = \frac{1}{\pi} \int_{0}^{2\pi} h(x) \cos \rho x \, dx \qquad and \qquad B = \frac{1}{\pi} \int_{0}^{2\pi} h(x) \sin \rho x \, dx.$$

In both cases s(y) is given by

$$s(y) = h'(y) + \rho^2 \int^v h(t) dt.$$

Conversely, if s(x) is a non-decreasing function and if h(y) is defined as in part (a), then h(y) is ρ -trigonometrically convex. If s(x) is a non-decreasing function satisfying

$$\int_0^{2\pi} e^{i\rho x} \, ds(x) = 0,$$

and if h(y) is defined as in part (b) (where A and B are arbitrary real constants), then h(y) is ρ -trigonometrically convex.

Proof We need to establish a one-to-one correspondence between the 2π -periodic trigonometrically convex functions h(y) and the non-decreasing functions s(y) satisfying the statements of the theorem.

First, suppose that h(y) is a 2π -periodic trigonometrically convex function. Then h(y) has a derivative at all points except possibly on a countable set N (cf. [1, p. 55]). Let

$$s(y) = h'(y) + \rho^2 \int^y h(t) dt$$

if y is not in N, and if y is in N use either the derivative of f(y) (whose indicator is h(y)) from the left or from the right instead of h'(y), which exist by [2, p. 54]. Then, by Levin [1, p. 57], s(y) is a non-decreasing function on $[0, 2\pi]$.

Secondly, we show that every non-decreasing function s(y) on $[0, 2\pi]$ determines a 2π -periodic trigonometrically convex function h(y). By Levin [1, p. 57], it suffices to show that there exists h(y) such that

$$s(y) = h'(y) + \rho^2 \int^y h(t) dt.$$

Equivalently, we must construct the Green's function G(x, y) for the differential

operator $h'' + \rho^2 h$ with some boundary conditions (we are assuming here that s(y) is differentiable, with the case of non-differentiable s(y) treated later in this paper).

To determine these boundary conditions observe that

$$\int_0^{2\pi} G(x, y) \{h''(x) + \rho^2 h(x)\} \, dx = \int_0^{2\pi} G(x, y) h''(x) \, dx + \rho^2 \int_0^{2\pi} G(x, y) h(x) \, dx \, .$$

Integrating by parts twice we can write

(1)
$$\int_{0}^{2\pi} G(x, y) \{ h''(x) + \rho^{2} h(x) \} dx = G(2\pi, y) h'(2\pi) - G(0, y) h'(0) - \{ G_{x}(2\pi, y) h(2\pi) - G_{x}(0, y) h(0) \} + \int_{0}^{2\pi} \{ G_{xx}(x, y) + \rho^{2} G(x, y) \} h(x) dx.$$

Hence we require of G the periodic boundary conditions

 $G(0, y) = G(2\pi, y), \qquad G_x(0, y) = G_x(2\pi, y)$

and

$$G_{xx}(x, y) + \rho^2 G(x, y) = 0.$$

Now, the general solution of

$$h''(x) + \rho^2 h(x) = 0$$

is

$$h_0(x) = A \cos \rho x + B \sin \rho x.$$

From the above boundary conditions, we can write

 $h_0(0) = h_0(2\pi)$ and $h'_0(0) = h'_0(2\pi)$.

Thus we obtain

$$(1 - \cos 2\pi\rho)A - (\sin 2\pi\rho)B = 0,$$
 $(\sin 2\pi\rho)A + (1 - \cos 2\pi\rho)B = 0.$

The determinant of coefficients of A and B in the above system is $2(1 - \cos 2\pi\rho)$. Thus we consider two cases:

Case 1 ρ is non-integral: In this case $1 - \cos 2\pi\rho$ is non-zero. Thus A = B = 0 and consequently there is no non-trivial solution $h_0(x)$ of

$$h''(x) + \rho^2 h(x) = 0$$

under the prescribed boundary conditions. Since

$$G_{xx}(x, y) + \rho^2 G(x, y) = 0$$

,

we have

$$G(x, y) = \begin{cases} c_1 \cos \rho x + c_2 \sin \rho x, & \text{if } 0 \le x < y \\ c_3 \cos \rho x + c_4 \sin \rho x, & \text{if } y < x \le 2\pi. \end{cases}$$

where c_i is a function $c_i(y)$ (i = 1, 2, 3, 4). By the boundary condition

$$G(0, x) = G(2\pi, x)$$

we have

(2)
$$c_1 = c_3 \cos 2\pi \rho + c_4 \sin 2\pi \rho$$
.

Since G(x, y) is differentiable as a function of x for a fixed y,

$$G_x(x, y) = \begin{cases} -\rho c_1 \sin \rho x + \rho c_2 \cos \rho x, & \text{if } 0 \le x < y \\ -\rho c_3 \sin \rho x + \rho c_4 \cos \rho x, & \text{if } y < x \le 2\pi \end{cases}$$

By the boundary condition

$$G_x(0, y) = G_x(2\pi, y)$$

we get

(3)
$$c_2 = -c_3 \sin 2\pi \rho + c_4 \cos 2\pi \rho.$$

Since

$$G_x(y+0, y) - G_x(y-0, y) = -1$$

we easily see that

(4)
$$(c_1 - c_3)\rho \sin \rho y + (c_2 - c_4)(-\rho \cos \rho y) = -1.$$

By the continuity of G(x, y) at (x, y), $0 \le x$, $y \le 2\pi$,

(5)
$$(c_1 - c_3) \cos \rho y + (c_2 - c_4) \sin \rho y = 0.$$

Solving equations (3.4) and (3.5) for $c_1 - c_3$ and $c_2 - c_4$ we see that

(6)
$$c_1 - c_3 = -\sin(\rho y)/\rho$$

and

(7)
$$c_2 - c_4 = \cos(\rho y)/\rho$$
.

Substituting

$$c_{3} = c_{1} + \sin(\rho y)/\rho$$
 and $c_{4} = c_{2} - \cos(\rho y)/\rho$

into equations (2) and (3) we easily see that

(8)
$$(1 - \cos 2\pi\rho)c_1 - (\sin 2\pi\rho)c_2 = \sin \rho(y - 2\pi)/\rho$$
,

(9)
$$(\sin 2\pi\rho)c_1 + (1 - \cos 2\pi\rho)c_2 = -\cos \rho(y - 2\pi)/\rho$$

Solving equations (8) and (9) for c_1 and c_2 we find that

$$c_1 = -\cos \rho (y-\pi)/2\rho \sin \pi \rho$$
 and $c_2 = -\sin \rho (y-\pi)/2\rho \sin \pi \rho$.

Now

 $c_3 = -\cos \rho(y+\pi)/2\rho \sin \pi \rho$ and $c_4 = -\sin \rho(y+\pi)/2\rho \sin \pi \rho$.

Thus, it is easy to see that

$$G(x, y) = \begin{cases} -\frac{1}{2\rho \sin \pi \rho} \cos \rho(y - x - \pi), & \text{if } 0 \le x < y \\ -\frac{1}{2\rho \sin \pi \rho} \cos \rho(y - x + \pi), & \text{if } y < x \le 2\pi. \end{cases}$$

B. GHUSAYNI

It is easy to check that G(x, y) is a Green's function. Moreover, by Yosida [2, p. 71], G(x, y) is uniquely determined.

If s'(y) is continuous, then by Yosida [2, p. 66]

$$h(y) = \int_0^{2\pi} G(x, y) \{-s'(x)\} dx$$

and thus

$$h(y) = \frac{1}{2\rho \sin \pi \rho} \left\{ \int_0^y \cos \rho (y - x - \pi) \, ds(x) + \int_y^{2\pi} \cos \rho (y - x + \pi) \, ds(x) \right\}.$$

If s'(x) is not continuous, then since $s\left(\frac{y}{2\pi}\right)$ is continuous on $[0, 2\pi]$ it follows by the Bernstein theorem (cf. [5, p. 5]) that

$$\lim B_n(s, y/2\pi) = s(y/2\pi), \quad \text{as} \quad n \to \infty$$

uniformly on $[0, 2\pi]$, where B_n is the Bernstein polynomial. Moreover, since $s(y/2\pi)$ is a non-decreasing function, $\{B_n(s, y/2\pi)\}$ is a sequence of non-decreasing functions [6, p. 23]. Furthermore, it is clear that $B_n(s, y/2\pi)$ is differentiable and $B'_n(s, y/2\pi)$ is continuous for each n = 1, 2, 3, Thus, letting $t = y/2\pi$, there exist trigonometrically convex functions $h_n(t)$ such that

$$h_n(t) = \frac{1}{2\rho \sin \pi\rho} \left\{ \int_0^t \cos \rho(t - x - \pi) \, dB_n(s, x) + \int_t^{2\pi} \cos \rho(t - x + \pi) \, dB_n(s, x) \right\}.$$

Hence, it is clear that $h(t) = \lim h_n(t)$, as $n \to \infty$, exists. Moreover, h(t) is trigonometrically convex by the lemma. Furthermore, by Rudin [13, p. 139, Theorem 7.16]

$$h(t) = \frac{1}{2\rho \sin \pi \rho} \left\{ \int_0^t \cos \rho(t - x - \pi) \, ds(x) + \int_t^{2\pi} \cos \rho(t - x + \pi) \, ds(x) \right\}.$$

If s(y) is a non-decreasing but non-differentiable function, we can still approximate s by a sequence of non-decreasing Bernstein polynomials and then pass to the limit as before (cf. [6, p. 23]).

Case 2 ρ is integral: Let s(y) be a non-decreasing function on $[0, 2\pi]$ satisfying

$$\int_0^{2\pi} e^{i\rho x} \, ds(x) = 0$$

Using the method of approximation as in (a) we can assume without loss of generality that s(y) is differentiable and s'(y) is continuous on $[0, 2\pi]$. Hence consider

$$h''(y) + \rho^2 h(y) = s'(y).$$

If we proceed as in the proof of (a) using equation (1) to require of G(x, y) that $G_{xx}(x, y) + \rho^2 G(x, y) = 0$, $G(0, y) = G(2\pi, y)$ and $G_x(0, y) = G_x(2\pi, y)$, we notice that a solution h(y) of the equation

$$s(y) = h'(y) + \rho^2 \int^y h(t) dt$$

cannot be constructed when ρ is an integer, because in this case the homogeneous differential equation

$$h''(y) + \rho^2 h(y) = 0$$

has the periodic solutions $\cos \rho y$ and $\sin \rho y$ and therefore there is no Green's function satisfying the periodic boundary conditions. To see this, we argue by contradiction. Suppose

$$G(x, y) = \begin{cases} c_1 \cos \rho x + c_2 \sin \rho x, & \text{if } 0 \le x < y \\ c_3 \cos \rho x + c_4 \sin \rho x, & \text{if } y < x \le 2\pi \end{cases}$$

where c_i is a function $c_i(y)$ (i = 1, 2, 3, 4).

By the boundary conditions

$$G(0, y) = G(2\pi, y), \qquad G_x(0, y) = G_x(2\pi, y),$$

it follows that $c_1 = c_3$ and $c_2 = c_4$. Now

$$G_x(y+0, y) - G_x(y-0, y) = -1$$

gives the desired contradiction. Nevertheless, we can construct a generalized Green's function that gives the periodic solution h(y) of the inhomogeneous differential equation

$$h''(y) + \rho^2 h(y) = s'(y)$$

when s'(y) is orthogonal to the solutions $\cos \rho y$ and $\sin \rho y$ (i.e. $\int_0^{2\pi} e^{i\rho x} s'(x) dx = 0$) of the homogeneous differential equation by requiring that

 $G_{xx}(x, y) + \rho^2 G(x, y) = -\delta(x - y) + \alpha_1 \cos \rho y \cos \rho x + \alpha_2 \sin \rho y \sin \rho x$

with α_1 and α_2 chosen so that

$$\int_{0}^{2\pi} (\sin \rho x) \{ -\delta(x-y) + \alpha_1 \cos \rho y \cos \rho x + \alpha_2 \sin \rho y \sin \rho x \} dx = 0$$

and

$$\int_0^{2\pi} (\cos \rho x) \{-\delta(x-y) + \alpha_1 \cos \rho y \cos \rho x + \alpha_2 \sin \rho y \sin \rho x\} dx = 0,$$

where $\delta(t)$ is Dirac's δ -function ($\delta(t) = 0$ if t is different from zero). Using the facts that

$$\int_0^{2\pi} (\sin \rho x) \,\delta(x-y) \,dx = \sin \rho y \qquad \text{and} \qquad \int_0^{2\pi} (\cos \rho x) \,\delta(x-y) \,dx = \cos \rho y,$$

a direct computation shows that $\alpha_1 = \alpha_2 = 1/\pi$. Thus the required condition becomes

$$G_{xx}(x, y) + \rho^2 G(x, y) = -\delta(x - y) + \frac{1}{\pi} \cos \rho(y - x).$$

Since $\delta(x - y) = 0$ when x is different from y and since $-(1/2\pi\rho)\{x \sin \rho(y - x)\}$ is the particular solution due to the additional $(1/\pi) \cos \rho(y - x)$ in the differential equation,

we can write

$$G(x, y) = -\frac{x \sin \rho(y - x)}{2\pi\rho} + \begin{cases} A \cos \rho x + B \sin \rho x, & 0 \le x < y \\ C \cos \rho x + D \sin \rho x, & y < x \le 2\pi, \end{cases}$$

where A, B, C and D are functions of y to be determined. Using the boundary conditions, we obtain

(10)
$$C - A = \frac{\sin \rho y}{\rho}$$

and

$$B - D = \frac{\cos \rho y}{\rho}.$$

Thus

$$G = -\frac{x\sin\rho(x-y)}{2\pi\rho} + \begin{cases} A\cos\rho x + B\sin\rho x, & 0 \le x < y\\ \{4\cos\rho x + B\sin\rho x\} + \frac{\sin\rho(y-x)}{\rho}, & y < x \le 2\pi \end{cases}$$

That is

(12)
$$G = -\frac{x \sin \rho(y-x)}{2\pi\rho} + A \cos \rho x + B \sin \rho x + \begin{cases} 0, & 0 \le x < y \\ \sin \rho(y-x), & y < x \le 2\pi. \end{cases}$$

Since sin ρx and cos ρx are non-trivial solutions of

$$G_{xx}(x, y) + \rho^2 G(x, y) = 0,$$

using one condition of the definition of the generalized Green's function, we can write

(13)
$$\int_{0}^{2\pi} G(x, y) \cos \rho x \, dx = 0$$

and

(14)
$$\int_{0}^{2\pi} G(x, y) \sin \rho x \, dx = 0.$$

Considering equation (13), we get

$$-\frac{1}{2\pi\rho} \int_{0}^{2\pi} x \sin \rho(y-x) \cos \rho x \, dx + A \int_{0}^{2\pi} \cos^2 \rho x \, dx + B \int_{0}^{2\pi} \sin \rho x \cos \rho x \, dx + \frac{1}{\rho} \int_{y}^{2\pi} \sin \rho(y-x) \cos \rho x \, dx = 0.$$
Hence

Hence

$$-\frac{1}{4\pi\rho}\int_{0}^{2\pi} x\{\sin\rho y + \sin\rho(y-2x)\} dx + \frac{A}{2}\int_{0}^{2\pi} (1+\cos 2\rho x) dx + \frac{B}{2}\int_{0}^{2\pi} \sin 2\rho x dx + \frac{1}{2\rho}\int_{y}^{2\pi} \{\sin\rho y + \sin\rho(y-2x)\} dx = 0.$$

136

But $\int_0^{2\pi} \sin 2\rho x \, dx = 0$ and hence we can solve for A by integration and get

$$A = \frac{y \sin \rho y}{2\pi\rho} + \frac{\cos \rho y}{4\pi\rho^2} - \frac{\sin \rho y}{2\rho}$$

Similarly, by consider equation (14), we get

$$B = \frac{\sin \rho y}{4\pi\rho^2} + \frac{\cos \rho y}{2\rho} - \frac{y \cos \rho y}{2\pi\rho}$$

Substituting A and B into equation (12) and simplifying the result we get

$$G(x,y) = \frac{(y-x)\sin\rho(y-x)}{2\pi\rho} + \frac{\cos\rho(y-x)}{4\pi\rho^2} - \frac{\sin\rho(y-x)}{2\rho} + \begin{cases} 0, & 0 \le x < y \\ \frac{\sin\rho(y-x)}{\rho}, & y < x \le 2\pi. \end{cases}$$

Now it is trivial to see that G(x, y) is a generalized Green's function.

By equation (1) and the boundary conditions, we have

So

$$\int_{0}^{2\pi} G(x, y) \{h''(x) + \rho^{2}h(x)\} dx = \int_{0}^{2\pi} h(x) \{G_{xx}(x, y) + \rho^{2}G(x, y)\} dx.$$

$$\int_{0}^{2\pi} G(x, y)s'(x) dx = \int_{0}^{2\pi} h(x) \{-\delta(x-y) + \frac{1}{\pi}\cos\rho(y-x)\} dx$$

$$= -\int_{0}^{2\pi} h(x) \delta(x-y) dx + \frac{1}{\pi} \int_{0}^{2\pi} h(x)\cos\rho(y-x) dx$$

$$= -h(y) + \frac{1}{\pi} \int_{0}^{2\pi} h(x)\cos\rho(y-x) dx.$$

Thus

$$h(y) = -\int_{0}^{2\pi} G(x, y) \, ds(x) + \frac{1}{\pi} \int_{0}^{2\pi} h(x) \{\cos \rho y \cos \rho x + \sin \rho y \sin \rho x\} \, dx$$
$$= -\int_{0}^{2\pi} G(x, y) \, ds(x) + A \cos \rho y + B \sin \rho y,$$
e

where

$$A = \frac{1}{\pi} \int_{0}^{2\pi} h(x) \cos \rho x \, dx \quad \text{and} \quad B = \frac{1}{\pi} \int_{0}^{2\pi} h(x) \sin \rho x \, dx.$$

Using $\int_0^{2\pi} e^{i\rho x} ds(x) = 0$, a simple computation leads to

$$h(y) = \frac{1}{2\pi\rho} \int_0^{2\pi} (x - y) \sin \rho(y - x) \, ds(x) - \frac{1}{\rho} \int_y^{2\pi} \sin \rho(y - x) \, ds(x) + A \cos \rho y + B \sin \rho y.$$

The proof of the converse follows from Levin [1, p. 57] and the Leibnitz formula [7, p. 245].

B. GHUSAYNI

References

- [1] B. Ja. Levin, *Distribution of Zeros of Entire Functions*, Translations of Math. Monographs No. 5, American Mathematical Society, Providence, R.I., 1964.
- [2] K. Yosida, Lectures on Differential and Integral Equations, Interscience, New York, 1960.
- [3] W Rudin. Real and Complex Analysis, 2nd ed., McGraw-Hill, New York, 1974.
- [4] W. Rudin, Principles of Mathematical Analysis, 2nd ed., McGraw-Hill, New York, 1964.
- [5] G. G. Lorentz, *Bernstein Polynomials*, Mathematical Expositions No. 8, University of Toronto Press, Toronto, 1953.
- [6] E. Phragmén and E. Lindelöf, Sur une extension d'un principe classique de l'analyse et sur quelques propriétés des fonctions monogènes dans le voisinage d'un point singulier, Acta Math. 31 (1908), 381-406.
- [7] R. G. Bartle, The Elements of Real Analysis, 2nd ed., Wiley, New York, 1976.

138